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Chemistry/A

1. At high pressure, van der waals equation becomes:

(A) PV=RT

(C) PV=RT -aN

(B) PV= RT+ aN

(D) PV= RT + Pb

2. Match the following

(X) InversionTemperature (i) alRb

(Y) Boyle'sTemperature (ii) 8a127Rb

(Z) CriticalTemperature (Jiii) 2a1Rb

(A) X-i, Y-ii, ?-iii (B) X-iii, Y-ii,Z-i

(C) -X-iii, Y-i,Z-ii (D) X-i, Y-iii,Z-ii.

3. For an adiabatic process,which ofthe following relations is correct?

(A) ~E = 0

(C) q = 0

(B) P~V = 0

(D) q =+w

4. The work done in ergs for a reversible expansion of onemole of an ideaI gasfrom avolume of

10 litre to 20 litre at 25°C is:

(A) 2.303 x 8.31 x 107 x298log2

(C) 2.303 x 0.0821 x 2981og0.5

(B) 2.303 x 0.0821 x 298log2

(D) 2.303 x 2 x 298log2

5. The equilibrium constant for the reaction SOl (g) + Yz01 (g) ~ S03(g) is 5 X 10-1atm-\

The equilibrium constant for the reaction: 2 S03(g) ~ 2S0
1
(g) + 01 (g) would be :

(A) 100atm

(C) 4 x 102atm

(B) 200atm .

(D) 6.25 xl O'ntm
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6. In gaseousreversible reaerion : N1(g)+01(g) ~ 2NO(g) +heat, pressure is increased then

the equilibrium constant would be :

(A) Unchanged

(C) Decreased

(B) Increased

(D) First increasethendecrease

7. Two moles of PCl
5
are heated in a closed vesselof 2 litre capacity. When the equilibrium is

attained 40% of it has been found to be dissociated. What is the value of K in mol/dm' ?
. c

(A) 0.532

(C) 0.133

(B) 0.266

(D) 0.174

8. The standard emf of a galvanic cell involving cell readion with n = 2 is found to be 0.295V

at 25°C. The equilibrium constant for the readion would be ( Given : F = 96500Cmol ' ;

R = 8.314 JK-l mol+) :

(A) 2'x 1011

(C) 1 X 102

(B) 4 X 1012

(D) 1X 1010

9. The solubility of a gas in liquid increaseswith:

(A) Increasein temperature

(B) Reductionof gaspressure

(C) Decreasein temperatureandIncreaseof gaspressure

(D) Amount ofliquid taken

10. If 0.1M solution of glucoseand 0.1M urea solution are placed on two sidesof a semipermeable

membrane to equal heights then it will beeorreet to say that:
,

(A) Therewill benonetmovementacrossthemembrane

(B) Glucosewill flow towardsureasolution

(C) Ureawill flow towardsglucosesolution

(D) Waterwill flow from ureasolutiontowardsglucosesolution
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11. The specific conductance of a 0.01 M solution of KCL is 0.0014 ehm" em" at 25°C. Its

equivalent conductance is :

(A) 14

(C) 1.4

(B) 140

(D) O.l4P

12. The oxidation potentials of Zn, Cu, Ag, H1 and Ni are 0.76, -0.34, -0.80, 0 and 0.25 volt

respectively.Which of the following reactions will provide maximum voltage?

(A) Zn + Cu2+~ Cu + Zn2+ (B) Zn + 2Ag+~ 2Ag + Zn2+

(C) H2+ Cu2+~ 2H++ Cu (D) H2+ Ni2+~ 2H++ Ni

13. The rate of Chemisorptions :

(A) Decreaseswith increaseof pressure

(C) Ismaximumatoneatmosphericpressure

(B) Is independentof pressure

(D) Increaseswith increaseof pressure

14. The migration of colloidal particles under the influence of an electric field is known as :

(A) Electro-osmosis (B) Brownianmovement

. (C) Cataphoresis (D) Dialysis

15. The Crystalline structure ofNaCI is :

(A) Hexagonalclosepacked

(C) Squareplanar

(B) Facecenteredcubic

(D) Body-centeredcubic

16.. The unit cell of AI (molar mass 27 g/mol-') has an edge length of 405 pm. Its density is

2.7 g/cmJ• The cubic unit cell is :

(A) Face-centered

(C) Edge-centered.

(B) Body-centered

. (D) Simple
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· 17. A graph between time (t) and substance consumed at any time t is found to bea straight line

passing through origin. This indicates that the reaction is of:

(A) Secondorder

(C) Zero order

(B) First order

(D) Fractionalorder

18. The reaction, X ~ Y (product) follows first order kinetics. In 40minutes, the concentration of

X changesfrom 0.1M to 0.025M, then the rate of reaction when concentration of X is 0.01M

is :

(A) 1.73x 10-4Mzmin"

(C) 3.47 x 10-4Mzmirr!

(B) 3.47 x 10-sMzmirr"

(D) 1.73x 10-sMzmin"

19. Colligative properties are applicable to :

(A) Idealdilutesolutions

(C) .Non-idealsolutions

(B) Concentratedsolutions

(D) All of these

20. Which defect causesdecrease in the density of a crystal ?..
(A) Frenkeldefect (B) Schottkydefect

(C) Interstitialdefect (D) F-centre

21. IUPAC name for the compound given below is :

o

OH

(A) 3-Hydroxy- 5--{::hlor0--4-Pentanone (B) l-Chloro- 3-Hydroxy-2-Pentanone

(C) l--{::hloro-3-Ethyl- 3-Hydroxy-2-Propanone (D) l-Chloro-z-Oxo- 3-Hydroxypentane

22. The most stable carbocation in the following list is :

CHlCH/, C6HsCH/, (CH3)2 CH+, (C6
HJ C+

(A) (C6Hs)3 C+ (B) C
6
HsCH2+

(C) (CH3)2CH+ (D) CH
3
CH/
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23. The thermal decomposition of higher hydrocarbons into lower hydrocarbons is termed as:

(A) Refonning (B) Sublimation

(C) Isomerisation (D) Cracking

24. Ozonolysisof2-methylpropene followed by reduction with ZnlCHlCOOH gives:

(A) -Propionaldehydeandformaldehyde (B) Acetaldehydeandacetone

(C) Acetoneandformaldehyde (D) Acetaldehydeandwater

25. Acetylenic hydrogen's ofalkynes can also be replaced with heavy metal Ag" by using:

(A) Fehling'sreagent '(B) Tollen'sreagent

(C) Hinsberg's'reagent (D) Fenton'sreagent

26. Treatment of nitrobenzene with fuming HNO
l

in the presenceof H2S04 at 373 K affords:

(A) Tn-Dinitrobenzene (B) p- Dinitrobenzene

(C) o-Dinitrobenzene (D) Benzene

27. Presenceof Chlorofluorocarbons in atmosphere leadsto:

(A) Globalwanning (B) Greenhouseeffect

(C) Smog (D) Depletionof ozonelayer

28. Which of the following gasesleads to aeid rain? .

(A) CO & NO (B) S02& N02

(C) CO2& S02 (D) CO & N02

29. When ethylbromide is treated with sodium acetylide the preductformed is :

(A) I-Butyne (B) 2-Butene

,(C) I-Butene (D) 2-Butyne
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(A) Agriculturalpesticide

(C) Refrigerantandpropellant

(B) Fireextinguisher

(D) Dry cleaningagent

30. Freon is used as :

31. Reaction of Phenol with acetic anhydride in the presenceof pyridine gives:

(A) Phenylpropionate

(C) Salicylicacid

(B) Phenylbenzoate

(D) Phenylacetate

32. The products formed when C
2
H
5
0C

1
H
5
reactswith cone,ID( cold) :

(A) Ethyl iodideandwater (B) Ethyl alcoholandethyl iodide

(C) Ethyl alcoholandwater (D) Ethyl iodideonly

33. Predict the fmal product X in the following reaction:

0=0 NH2NH2I KOH x

(A) Cyclohexane (B) Cyclohexene'

(C) Cyclohydrazone (D) Benzene

34. The conversion of propionic acid to a-bromopropionic acid can be achievedwith the help 0
. ,

following reagent :-

(A) Br/aq KOH

.(C) Br/P

(B) Br/CC14

(D) PBr
3

l~. When ethylamine iswarmed with chloroform and alcoholic potash,Y compound isformedwhicl

gives very offensive smell. The compound Y is :

(A) Ethyl isocyanate

(C) Ethylcyanide .

(B) Naphthalene

(D) Ehtyl isocyanide

ChemistryIBFH-30852-A 8
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36. Benzenediazoniumsaltcanbepreparedby reactionof:

(A) Aliphatic aminewith nitrousacid

(C) Aromaticaminewith nitrousacid

(B) Aliphatic aminewith nitric acid

(D) Aromaticaminewith nitric acid

37. Thestructureof silk fibroin protein correspondsto :

(A) a-Helix

(C) y-Coiled

(8) ~-J>leatedSheet

(D) &-Planner

38. Deficiencyof Vitamin D leadsto:

(A) Ricketsandosteomalacia

(C) Scurvy

(8). Night-blindness

(D) Sterility

39. Which of thefollowing isnot anexampleof condensationpolymer?

(A) Nylon-66

(C) Buna--S

(8) Terylene

(D) Bakelite

40. Thecolloidal solution of soapsin water removesthegreasymatter by :

(A) Adsorption

(C) Absorption

(8) Coagulation

(D) Emulsification

41. Thehighestexcitedstatethat unexcitedhydrogenatomscanreachwhentheyarebombarded

with 12.2eV electronis :

(A) n= 1

(C) n=3

(B) n=2

(D) n=4

42. The bond length in0/.°1,°1-.and0/-,follows theorder:
(A) 0 2-> 0 ->0 >0 + (B) 0 +> 0 >0 ->0 2-

2222 2222

(C) 0 > 0 ->0 2->0 + (D) 0 -> 0 2- >0 + >0
2222 2222
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43. 4.4gof CO
2
and 2.24 litre of ~2 at STPare mixed in a container. The total number of molecules•

present in the container will be :

(A) 6.022 x 1023

(C) 2mole

(B) J.2044 X 1023

(D) 6.023 x 1024

44. Equivalent weight of FeC
2
0 .•in the change: FeC

2
0 .•---------Fel+ +C0

2
is :

(A) Ml3 (B) Ml6

(C) MI2 (D) Mil

45. Poling process is used :

(A) For theremovalofAl
2
0
3
fromAl

(C) For theremovalof'Znfr fromZn

(B) For theremoval of'Cu.O from Cu

(D) For the removal ofFe
2
0
3
from Fe

46. Heavy water is not used for drinking because:

(A) It ispoisonous

(B) It is costly.

(C) Itsphysiologicalactionisdifferent fromordinarywater

(D) Itschemicalpropertiesaredifferent from ordinarywater

47. AI
2
0
l
formation involves large quantity of heat evolution which makes its usein :

(A) Deoxidiser (B) Confectionery

(C) Indoorphotography (D) Thermitewelding

48. The oxidation state ofMo in its oxo-complex species [Mo20 .•(C2"Jl'(H10)lJl-is:

(A) +2 • (B) +3

(C) +4 (D) +5
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49. Wrought iron is:

(A) Pureiron with 0.1 to 0.2%C

(C) An alloyof steel

(8) PigIron

(D) Impuresulphideoreofiron

50. For which oneof the following ions, the colour is not due to a d-d transitions?

(A) Cr04
2-

(C) TI(~O)63+

(8) Cu(NH
3

)/+

(D) CoF/+

51. Antichor is a compound:

(A) Which absorbchlorine

(8) Which removesCl
2
from amaterial

(C) Which liberatesCl
2
from bleachingpowder

(D) Which actsasacatalystin themanufactureof'Cl,

52. HIS cannot be dried by passing over cone, "2S04 because:

(A) Theacidoxidisesit (8). Theacidcombineswith H
2
S to form asalt

(C) Both formComplex (D) It dissolvesin theacid

53. P4°10has short and long P-Obonds. The number of short P-O bonds in this compound is :

(A) 1 (8) 2

(C) 3 (D) 4

54. CO2andN2arenon-supporterof combustion. However, for putting out fires CO2is preferred

over NI and CO2:

(A) Doesnot burn .. . '

(8) Formsnon-combustibleproductswith burningsubstances

(C) Isdenserthannitrogen

(D) Ismorereactive.
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55. Addition of excessof sodium hydroxide solution to a solution of.nickel sulphate result in the

formation of a :

(A) Greenprecipitate

(C) Blueprecipitate

(8) Pinkcolouration

(D) Violetcolouration

56. The hydride which doesnot act as reducing agent is :

(A) NH3 (8) CaH2

(C) NaH (D) LiAlH4

57. Newly shaped glassarticles when cooled suddenly become brittle, therefore theseare cooled

slowly, this process is known as :

(A) Tempering

(C) Quenching

(8) Annealing

(D) Galvanising

58. Liquid ammonia bottles be opened after cooling them in ice for sometime. It is becauseliquid

NUl:

(A) Brings tearsto theeyes

(C) Isacorrosiveliquid

(8) HasahighVapourpressure

(D) Isamild explosive

59. Starch paper moistened with Kl solution turns blue in ozonebecauseof:

(A) Iodineliberation (8) Oxygenliberation

(C) Alkali formation (D) Ozonereactswith litmuspaper

60. The compound which can remove both oxygen and nitrogen of the air when it ispassedover it

at 1000°C:

(A) CaC2

(C) CaCN2

(8) CaCl2

(D) Ca(CN)2
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